
1 

 

Mounting instructions for Wolfman  
Yamaha Super Tenere XTZ 1200 Rear Top Rack 

PART # RTR15 
Read and understand these instructions prior to installation! 

 

This kit contains the following: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Tools required: 

Blue Loctite or a medium strength thread locker 

5mm Hex wrench 

6mm Hex wrench 

 

*Hardware provided with top rack is intended to be used without OEM plastic spacer installed . There are 

eight spacers supplied with this kit, you will only need 4 depending on your mounting configuration. 

  

Read and understand these instructions prior to installation! 

Be sure to thread lock all bolts 

 

Correctly mounted top rack on a Yamaha Super Tenere 1200 

 

           

Quantity Description  

1 Top rack 

2 8 x 1.25 x 60mm Flat head bolts 

2 8 x 1.25 x  70mm Flat head bolts 

2 3/4 x 1.150 Aluminum spacers (for use with 

factory pillion rack) 

2 3/4 x 1.400 Aluminum spacers (for use with 

factory pillion rack) 

2 3/4 x 1.600 Aluminum spacers (for use with 

Wolfman pillion rack RTRP15)  

2 3/4  x 1.850 Aluminum spacers ( for use with 

Wolfman pillion rack RTRP15) 



2 

 

                       

                                                

1. Remove factory Rear Top Rack and black riser piece. 

  

For mounting top rack flat with factory plastic pillion seat rack  

2. Place two 3/4 x 1.400 spacers in the front right and left mounting points & two 3/4 x 1.150 spacers in the 

back right and left mounting points. FIG 1 

3.  Mount top rack in place using two 8mm x 1.25 x 70mm flat head bolts with thread lock in the front right and 

left mounting holes and two 8mm x 1.25 x 60mm flat head bolts with thread lock in the back right and left 

mounting holes.   

4. Tighten all bolts. 

 

For mounting top rack flat with Wolfman Pillion Rack (RTRP15) 
2.  Place two 3/4 x 1.850 spacers in the front right and left mounting points & two 3/4 x 1.600 spacers in the 

back right and left mounting points. FIG 1 

 

3.  Mount top rack in place using two 8mm x 1.25 x 70mm flat head bolts with thread lock in the front right and 

left mounting holes and two 8mm x 1.25 x 60mm flat head bolts with thread lock in the back right and left 

mounting holes.   

4. Tighten all bolts. 

 

 

                                         FIG 1 

 
 

**Periodically re-check all nuts and bolts to maintain rigidity and structural integrity** 

 

If you have any questions call 800/535-8131 or email sales@wolfmanluggage.com. 

Enjoy! 

 

mailto:sales@wolfmanluggage.com

